DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Departmental Test for Supervisors of Industrial Co-

Test: operative in the Industries Department - Business 063
Administration including Cost Accounting
(Without Books)

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamen@GmM euens N6 HSTel

Read the following instructions carefully before beginning to answer the
questions.

NaM&H&HEh&HE L WweNsEss QSTLRIEGD (6T SE&HNL M6 s end
SHEURTLOMSL UG &H&H6LD.

1,

This computer based Test contains 100 number of questions in objective

Type.
Qisé el aulfld CoiTeurars), 100 QHTNGM eUMSBUNCOTET CN6UTTEHSED 6N

Q& TeBuTL 5.

Answer all questions. Each question carries one mark

eSS NaTeEsEnsGL  almLwealldbsan auteur(m alatmad
LHUCLIGT 2_6mL_UIG).

In case of doubt, English version is the Final.
alemésailed FHCHHD QU YR eugelled QHTHGSUUL (Hemen
NS SHGaT @m) ST &).

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

g eNeammdsefled @LID QummieTer gyeior LTEOl6TSHSHeufl6t cumysenssefled
CoHemauliliger, HLSCHHU  Quem  UTedlsuidGeufledt  6uMjsHemssEmHLd
SILRIGLD.

. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

efeueuiugyisHeT samefl ol CoiaInG oNoLwelléEssd QST kG
e sHeoilerlluilesr  Hlewgulled  CHmETMID  SINYEMIHEDET  HEUTLOTSLI
LG &&6LD.

a) One question will be displayed on the screen at a time.

@Gy Crnsdev spm eferm WLHGCWL saieafld Hanguled CHTeTMILD.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



is an art of getting things done through others.
GTemLg) @ LanTlwum_sanem Qareaim(® iy &&dsnlq L SM& 6T nHEvLD.

(A) Administration ‘(B( Management
HliTeudlEse Gememrento

(C) Orientation (D) Profession
Crré@hlana Qgmenesnihs

The role of the lower level management is

seL_Hlane GuamerrenLoudler Limki@E

(A) Executing (B) Formulating
QawuBHEgHIHeD 2 (HeUM&GS

(C) Deriving Supervision
&eir (B 9igSGev &EWTE et &g 60

safeguard the business from time loss.

eraLg euanflssang Chr QUi mbg LUTEIST&EEGLD

99({ Planning (B) Adminsitration
AL BBge HlireumaLd

(C) Management (D) Manager
Coe meRTenLn Guemar

planning is detecting overall objectives of the organization.
AL Pse Hpeuasdan amansg CrrésnaEamanub &L DL &g USTE@LD.

(ﬁ( Strategic Planning (B) Intermediate Planning
Cumridperr #nhs SHliL1b @evL_lene L Lb

(C) Operational Planning (D) Test Planning
Qeweur’_(Hg S Ganganeng SHiL_Ld

The work is divided into number of small activities known as
vewfl LGaum Anu@dserts GfLILG eramug)

(A) Assisgment of work (B) Grouping of activities
Lanfl &E&E0 BLGUIG SEMEEEET G(HULHSH SHD
( Division of work (D) Delegation of authority
Lemfl Lm&E6 Hsmy et Ui
3 045/DD/22
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6. In which organization chart the distance is closer to the supreme authority
saneand SiHamiEE 2imdled 2 eTer il euamyUL LD

(A) Vertical chart (B) Horizontal chart
Qi @dg) euanTLILLD Hlev ol L sueyuLLDd
g?f Circular chart (D) Square chart
UL GUETLILLD &) GUEFLIL_LD
7. The first step in decision making process is
Wiy GeuBHFeNed (LpGHedLiig LITEG)

M Indentification and diagnosing the real problem
> @TELOILITET (TEFEETELI HENLLITETLD STERTE LOHMILD HeRTLHlEe)
(B) Evaluation of alternatives
LIHD HLellgdasail SO e
(C) Developing alternatives
LTHM BL-6UIGSEMSIW 2_(HEUTE @GS0
(D) Selection of alternatives
wrHm aflullener CsibosHESH0

8. Which one of the following is not External Coordination?
Gesrau(mid 6Thg epaml GeuafliiLym e(phidlaearTiiLy e

(A) Management — Market Agencies
CuerammenLd §hengp&Hel

(B) Management — General Public
Cuerarento GugLodser

(C) Management — Financial Institution
Guaremento HlEHmieuerid

(w Sales Manager — Sales Supervisor
eflpuener GuemarT - elpueaer GodHLimTeneuw meTT

9. — refers to mutuality among employees working in the organization.
el uarflyfuyb vesllwrerisaflan_Cuwnar 2 me| eraTLg)
M Reciprocity (B) Goodwill
LIFEOLILD BETLOSILIL|
(C) Management (D) Teamsprit
Cuemarentn &P @OmEDLD

045/DD/22 4



10.

11.

12.

refers to a Cooperative relationship between the leader and one or more
person to accomplish a particualr job.
BT LHMILD Gy SNeg SiBHE CunulL puisailer o pelilar epewrs e Lailuilamer
PyUUg)

‘A{ Supervision (B) Authortiy
Cupurireneu Q&b

(C) Controlling (D) Teamwork
s (HLu( SIS0 & (pLiLiemf]

The enterprise which divides the department on the basis of functions like
Production, Purchasing, sales, Financing, Personnel is known as

e B oger uafllsammar 2 pusH, Qararapse, ellpuee, B, Lewflwimert <dlwieumdlesr
Slig Liuen_udled ARGLg).

(A) Centralization (B) Decentralization
DS EBTFenLLWILD Siflsmyliugeued

SZ’ Function Department (D) Personnel Department
QeweréEssgienn Liewflwmeig)enm

Delegation is the act of assigning authority and
9ifamy udliey eremug) Fsmyb HmiD

M Responsibility (B) Centralization

Glummitiy aWLIL(HSSHISE
(C) Span of control (D) Committee

&L QLT g 67 65&a G
Meetings, Conferences and Interviews are ——— type of communication.
gal_Lmsar, elfeyemrser wHmb ChisTaumesar pduime euamSIITET GlFTLTL&ETT @0
M Verbal (B) Non-verbal

cumi@wmy umGLTY Siers
(C) Formal (D) Informal

(LpEnMD I Tert (peopuIHD

5 045/DD/22
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S Sy, i
o

14. A conversion of the subject matter into these symbol is the process of
gaausafld 2 drar Qeidlsamer GHuiBaarTs rHmID e

(A) Decoding V Encoding
GO Bése GOLILH
(C) Message (D) Picturisation
Qawg) UL LDT&H@EHE0 (Lpenm
15. The process of motivation is starts from ——— of an individual.
pargaILI(HSGIFeer QEweum® emedflen A (mbg QET_hiGHng).
(A) Action (B) Drive
Glawed 2_IhgSHe
Need (D) Behavior
GCgeanau BLSEG

16.  Which is the first step in the process of MBO?
GNulese@ Cuanamamn Qewunipapuler (psa Lighlame erg)?

(A) Fixing key result area
Wpa&Hw (pige] LGdaw (pigey Ceuieus
(B) Appraisal of activities
BLGulgSamssamer LAHUSE CFleg
(C) Matching resources with activities
GN&CHTETEEHL 6T GUETHIGEET OlLIT(m&hgI6eug)
W Defining organizational objectives
sewlier @M&GararaameT euenymiLiLg)

17.  Primary Market is also called as

pasoflerd ghans GTaa|ld Denp&ESLILIHEDG).

(A) Secondary Market (B) Money Market
@newr_mbbleneé shens LenTE SHens
New Issue Market (D) Indirect Market
Ldw QaualliBsErssTar sHaS DD P FHEE

045/DD/22 6



Capital Market do not provide

LPOSE FHENSG GULPMIGTSG)| TG ?

( Short term funds (B) Debenture funds
Gnsu srebld sLamd LSS rmisar

(C) Equity funds (D) Long term funds
gblane Fl BewrL_ame Bl

Which one of the following is a soft commodity?
\Qetreu(pLd 678 epedml GloETLIGRTL SLD

(A) Gold (B) Oil
FHBIGLD G A
(C)  Rubber 03{ Sugar
guum FMEHHDI]

A major player in the money market is the
Lewrdshanguiler (paEdlw Sikish eudlliLg)

(ﬁ/ Commercial Bank (B) RBI
cuanfla eumidl fameu eumidl
(C) SBI (D) Central Bank
umyg evGL L eumbidl LSS ki)

A marketable document of title to a time deposit for a special period may be referred
to as a
shaslILOSSEmIGW o Mawilumrer yeuamid &Te oD @eluns g GHuCiL

sTSH D@ eram GG LUED YeuamTSms eram GO LuBE DG,
(A) Treasury bill QB{ Certificate of deposit
SHape @) 78S ®eULIL|F ETETHISHLD
(C) Commercial bill (D) Government securities
auanfla @ rés) 978 USH LD
7 045/DD/22

[Turn over



25.

22,

23.

24.

The process of converting physical shares into electronic form is called
s1élg augellona ukigsmer Werargn eugele wWrHnegHETE GswdpamD
GTaTLILI(HILD.

(K( Dematerialization (B) Delisting
LSCHTHOLHD LSS TEIGET Ul iqgwelephg BéEs0
(C) Materialization (D) Debarring
Lm&CHTHDpETET LSS Thiser FHEL_L{eTeT LSS Thisar
Human Resource is a / an ———— asset.
il GeueTLd eTeLig)l ¢(m Qendg).
p)/ Tangible (B) Intangible
&G (&) L|QETIT(GLD SETEW)&(G) L|OSTTSHTS
(C) Fixed (D) Current
Hlenavwi et BLLIL

Which of the following maket classified on the basic of transaction?
Gereu(mLd 6Th shavgwnang Uflauigsamenden oig liumLuild amsluBssuIur(Hiererg

(A)  Whole sale market (B) Retail market
Qurss efllhLemer shHang fdanm eSlHLEET FHang
( Future market (D) Long period market
THTETD FHang Berr_sme shang

Stock Exchange market is also called as

k@ ufleuTdsamen sheng aTaTayld SMP&EHILIHE ).
(A) Spot market (B) National market
&HETEHEOS Caélwu sheng
(C) Local market Security market

o_GTeEhIT SHES UTGISTLIL| FHeDS

045/DD/22 8



26.

27,

29.

-l

Effective use of social media marketing increase conversion rates of
sops 2aL & FhasUsgsme Apliuns dewduBsgeug wrpm Afssms
REVEAEAE: 3¢ 1)

(A)  One buyer to another buyer’s
eumi@ueu LBl (BB LHGDM(H GUMh G LTS
% Customer to buyers
aumg denswmerlLLOl(BHE! 6umhI@LIeTTE
(C) Retailer to customer
Hoveenn eflwmumfseatlO(mHg eumm@GLeUTTS
(D) Direct contact of marketer
ghengwimar(héE Cryg Ggmmy

The final aim of modern marketing is
peian ehenguder @md @hlaCamerrag,)

(A) Maximum profit (B) Minimum profit
SflsL’s @emub GODHSLILEF @D

M Consumer satisfaction (D) Service to the society
HisTCeurfen weanblenme sepasdnamen Ceame

The district forum can entertain complaints where the value of goods/services and
the compensation if any claimed is less than Rs.

¢r. Qenemss@ Gopeurar Qurmlsedr wHpb GCemeusaflar GgmLTumer
Lsmiger wpmib @i @ Carfémsaulaman wreul L pisTGeurt warpld eflemflésamib.
(A) Ten lakh & Twenty lakh
USg @b @(mug el gid
(C) Forty lakh (D) Fifty lakh
BTHLIG @ &Lb LG @eL b

In which of the following types, the ownership is immediately transferred to buyer
Gemeumib 6ThG auams e 2 aLanio 2 MepLo 2 L aiquims Uik GLeU(HESE wrhplu®Hng).

(A) When goods are ascertained (B) When goods are appropriate
FIHGSMGIT 4 TTIIHS S 6o ENEGHMmeT gpgiddlulen
Delivery to the carrier (D) Sale (or) return basis
T(HHg Qaeaympiler e L efpuemen (1) HHLLLD DigliLient udled
9 045/DD/22
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s

30. In case of sale,

(A) Buyer
GUITMRIGLIGUT
(C) Hirer
| QUITL_ENGSTITIT

(A) Ambiguous instrument
Qgefleflerevm peemrid

V Inchoate instrument
Qaréd) B Dpeuemrid

instrument.

has the right to sell.
elpuenanuiledr wmmEE eln@b 2 Mean o_rerg).

‘B«)’ Seller

el pumTeneTuITerTT

(D) Consignee

Sigy i Qupmeurt

31.  Which of the following instrument is an incomplete instrument in some respect?
Qetreu(mLd ergy Ho Criraysafle appepEUDT peaIERTONGLD.

Time instrument
Cry <p,euemLd

Bearer instrument
QSTETTLIGT <),6U6mTLD

32. Negotiable instrument is freely transfereable by delivery if it is a / an

ENGTERTLONS e&LOTDHHE CETET(E@hLD LTHHILPED heERTLD

(A) Order
<24, EN T <6 GHTLD
(C) Bills of exchange
wrhn Qrés

(B{ Bearer

Q& TemTTLIGUT <246 6mTLD

(D) Seller document

el LG 2y6emTLD

33.  Which one of the following is not classified into managerial functions?

Qetreu(mLb ergy Goeomearranin Liewf] 66w

(A) Planning
L&

(C) Controlling
sLOUUBSSIHD

045/DD/22
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Organising

SEWOLILITHMEL

Marketing

Fhangudl (H&ew



34.

35.

36.

317.

38.

has to include the meachanism for managing venture in the project report.

(A)

(€)

AL sifsmaule gaflarb Qeleugnharear Gphpernamar 2 erar._&&lLg.

Banker (B) Government
cumidlwm DTG

Lending institutions (Bf Entrepreneur
&La 2efl&E@D Hlmeuemmhiger Qg mfleépanearGaur

The shares which are offered to the existing shareholders at free of cost is known as
(WPHEGW LIBIGSTTTE @& eTeueils s ampb @ Geuaflulipib uki@ser

o

(©)

Bonus share (B) Equity share

DEI&E LI (§&6ET ENGTET LIMIGHSET
Right share (D) Preference share

2 fenwo LIk @ser ey flantn Limki@aer

Cooperative fails because of
gal_(Hmey CaraeflwemL_aig)l ergenme?

(A)

Unlimited membership (B) Cash trading
eurbLmD o mGet Qués euentlsid
Mismanagement (D) Loss — making
SauTar GLoameRTeanLn @iy gpu@ s

Which one of the following is a commodity based warehouse?
emeu(mid erg) QUM(HET FTMTHS LIGHTL_S&TENe)

(A)

(©)

Cooperative warehouse (B) Government warehouse
Fal_(HMme| LIGHTL SHETena T LIGTL_&HEFTEN6
Private warehouse General warehouse
il LT LIahTL_&SFTene QuITg) LT &FTEna

Which one of the following is not a function of insurance?
Gesaumid ergl ST Ig.6m Lienfl e

(A)

(©)

Lending Funds (B) Risk sharing
sLema Bl efliy @Lirudliey
Capital formation ¢§ Protection of life
ppeged Sy (Hge QUMLPEES LIMGISTLILY
11 045/DD/22
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39.

40.

41.

42.

Who is the first middleman in the channel of distribution?

aULpEISHE euLPludled 2 aTem (LpSHed @enL Wi wimi?

U({ Wholesaler

Qs ewimumd

(C) Retailer
feoowenm eNwiruim

Producer

o _Hugdluwimer
Customer
GUITIG &ENGUITEITIT

are agents who merely bring the buyer and the seller into contact.
QUM GLeIMTILLD LU LD eHhidamantd@ b uaflufleneasr GonGamerieu

(A) Commission agents
SIS

(C) Selling agents
cilMLIeneT(LpSEU T

Income tax is levied under the article

(D) Stockiest

@ mliyemeus S (mLLIeuIT

of the Indian Constitution.

aueporeeufl @bdlw iydlwed sl ib
(A) Article 242

el 242

Article 246

efldl 246

The Assement year normally consisting of a period of

el ufer SpeidéasiLBHDE.
Article 244
A8 244
Article 248
el 248
months.

SETESL_(H 2peT(H eremg) QLngleuns

(A) One month
E(HLOTSLD

(C) Nine months
EREITLIG)| LDITEMBIGET

LOMSBIGENET Gl&TEHTL_SM(ELD.
Six months

ELPGITM) LDITE I &ETT

Twelve months

veeflC et omgmiGer

The percentage of exemption for Agriculture income is
Geuarmarrenio au(mLTaSSHHE eupmialiu@ b euflefosdlern sseisid

(A 10%
(C)  50%

045/DD/22
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44.

46.

47.

The additional cost incurred for producing one more unit of output is called as
of G dswrs o pusd Ceaiw wEL Qorgs Qeveild gHUBL sFmBsL G
Sipsslubheug)

(A) Average cost (B), Marginal cost
grmaf GQeway @ndflamas Cswa
(C) Fixed cost (D) Implicit cost
W Q& o _aTeTL_&& CFavey
Money cost is also known as ——— cost.
uent& sy Qeeay erenmid Diap&sIL(HEDE.
@ Explicit (B) Implicit
Qeuefluymy 2_GT(EHM)
(C) Social (D) Real
&OPS; O_GHTEMLD
The cost that remains constnt at all levels of output is ——— cost.
2 HugHudlen eTabem meul L risefigib wmmng Cleee sar
(}({ Fixed (B) Variable
roré CFae, wrmib Gawey
(C) Real (D) Social
o_airennd CFevey Feps e,

Another name of price is

eflemavulerr G Quiwi

(A) Average Revenue ﬁ( Marginal Revenue
Fyng au(meUTIl @mdlblene eu(meumL

(C) Total Revenue (D) Average cost
Qrés eu(mHeul grmaf CQgaey

13 045/DD/22
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48.

ot
Do

49.

An employee gets pension even relieved from the duty from the Employees
Provident Fund at the completion of age is

em ueiwurai gag uallWadphg eI@elssiuiL GngE s awde venflwmer
aumRsTo eneuliLy Fluledmbg @uiapdwib Cumeur.

}A) 50 years (B) 58 years
50 auwigy 58 auwig)

(C) 60 years (D) 61 years
60 euwig 61 cuwigy

The contribution percentage of the Employer in EPF is
Lanflwimer eumiisTe eeuliy HHude uenfl euprii@gCeaurfer Lnsafliy §563&LD

(A) 8% (B) 10%

W 12% D) 14%

Management is a ———— activity.

GemeRTentn erenig) 6(h QEwemELD.

(A) Individual QE{Group
st pu GIC

(C) Employer (D) Employee
LiewfleuLpi@guieu Leofluamer

Middle level management is also known as
@ e flane CoamesTento eranLig)

% Executory Management (B) Top level Management
flireursblene Goeomerento GuaBleane Guemeammenio

(C) Lower level Management (D) Efficient Management
seLflanev Goamesrento HmenCGoereimento

is the basic function of management.
eremugy) Geramaniouden g i Lasilum@L.

(A) Organizing % Planning
DL S8 (Hged

(C) Directing (D) Controlling
BWsHEGHD sL_(HUuB &g IS

045/DD/22 14




53.

o4.

Which of the following function of management deals only with people?
Geteu(md eihg Goameimentd Lenflwireang) wés@EsL e L (Hib CGTL ML wig)

(A) Planning (B)
S OB

(C) Directing
BusEGHD

Planning is the first function and

Controlling
SLOUUOSSISD
Staffing

Lianfl Lo g g6

is the last function of management.

LB eremig) (pEed Leantlopmid
LemflwmELd.

(A) Directing (B)
LGS

(C) Staffing
2, aTGETSH S0

erang) Guemamenoullen @mislblena

Organizing
DAMLDSSED
Controlling

LM CININT G 1F )

Which one of the following is not a conceptual skill of a manager?
Qevreu(mid 6rg) ep(m Coeomarilen &mEEI(HeUTESD e ?

M Procedures (B)
panL-(penD
(C) Fantasy (D)

&MHLIGHET GUlq GULD

Long term planning covers a period of
BearLsme S 0HGE eranug)

M 5 to 15 years (B)
5 ppged 15 per(Hser
(C) Above 20 years (D)
20 oy ar(HEEhSELD HFlswmen
15

Imagination - Chimerical
U STTHD SHHLIETSHH D
National and vision
GaSlwib HmIDd LTTeney

Above 15 years

15 (& EhsHE LD Dilsnmen
Below 5 years

5 @ (& EHEGLD (& D6 TE

045/DD/22
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.

57. A factory operating 24 hours will work for ——————— shifts.
24 weafllGryb Qewdu@b Qsmflheraauder ueaflwrhmn Ceume
(A) Two Y Three
ODEIC) epen)
(C) Four (D) Five
BrenE BHS!
58. ————— rewards motivate the employee.

QeugLodl Liewilwmereny oord@es&@Lw

(A) Financial (B) Positive
i3 Criroenm
(9/ Intrinsic (D) Extrinsic
2 GTeTTihS Qeuefliym
59. ———— measure the return generated from the funds invested in the business.
aNwmumrsHe wpsed® QFuig) HHHE aIHD BSTLSMS Seurédl (Houg
(A) Budget (B) Audit
Sl iguie sanflEans
(ﬂr Return on Investment (ROI) (D) Cost control
PSS [H LBgI u(mHLOTELD Qeewe; s (HLUM®
60. BEP (Break-Even Point) is used to take decision regarding ———— for the
marketers.
goflealerefl LGUUTLG| FHaMSLITATTEEhEE EMHS (Plge|smeT 6(Hé&s
2 H6|dDg).
9{ Price (B) Profit
ellenev @eoruid
(C) Purchase (D) Sales
QameTpsed cllpLienen

045/DD/22 16




61.

62.

63.

64.

External Audit done by
Qeuaflliym saxfléamaew Cuopblsmdaraig)

(A) Cost Accountant ‘B/ Charted Accountant
Q56 HEMTSSHTUIT UL LW S@T&STIWIT

(C) Company Secretary (D) Managing Director
Bmeuen Gewemart Cueramrentn @uis@biT

(‘ompany Secretary is appointed by
Blmieuer Qewerereny BlwblliLg

M Board of Directors (B) Managing Director
Hlireurad @p Cererrentn @uids @i

(C) State Government (D) Central Government
wrhled & WHEI 2478

Management increases
Geremrenid 2 Wmsgaig)

(A)  Waste gz( Productivity
il o pLigd Hmen
(C) Cost (D) Employment
AEY Ceuaneeumiiiny

The balance of cash book indicate
Qrés eigen Qprést ugsd @mUL sr(Heug?

(A) Net Income
Hl&T UHLOTETLD
‘}Bﬂ Cash in hand
&L QyréesD

(C) Differentiate between debtors and creditors
sLamefs@pdE0 sLalbCanmé@perer Caugur(
(D)  Gross income

@Lomgg eu(HLOTETD

17
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65.

66.

67.

68.

69.

Employee contribution in Employee provident fund is
vemflwimart eupistew eeuliyblduded uentlumerfler Lk

@) 10% B 12%
©)  14% D) 20%

Which one of the following is not a main objective of cost accounting?
Gesreu(mLd erhd e Gaewey savrsdlar (p&adlw GhECaTeT e

(A) Control of Cost (B) Reduction of Cost
Qeevey sL_HLum® Ceewe| @emLIL

(C)  Fixation of selling price ga( Recruitment
ellmuemer eflene [bliremTiiid 2TCEFTHSE

Which one of the following is controllable cost?
Gemeu(mid e1g sL_HLUILOSSEH g0 ClFawa,?

(A) Taxes (B) Rent
euifl QUTL. S
w Direct material (D) Insurance
Cririg. epeoliGLmmer &S0

Budgetary control is a
aurey - Qe L& s QU eTarLg)

( Continuous process (B) One-time process
Qarréflurer Hlape] @maperm Hlape,

(C) Six-months process (D) One-year process
B0 HlEHa @OHIGL Blaha

Which of the following costing method is used in the mass production industry?
218 oera 2 Husd Asmfldseic LweaTLBSs LG Slevapamm 678 ?

(A) Operating costing W Operation costing
Buwsss Dsewa] Qeweur’_( QFwey

(C)  Multiple costing (D) Process costing
uetips Cleaey Qewedpenm Clgeaey

045/DD/22 18



72.

section of Income Tax Act 1961 deals the deduction to the cooperative

societies.
19610 eu@pLsHw eu@poner euflal L gdler
auprareuf sfle) Lupi GHl GG EDE.

(A) Section 80C
gL 9fley 80C
(C) Section 80H

sl L9 fley 8OH

Trade Discount given by
eSlwimuImy SemEhLigeni et L6

(A)

Retail seller
fevevenm efwimumil

Customer
QUITIg SENGWITEITIT

(©)

Wages not consists of
gaadluller Gannag) 6rg)?

(A) Dearness Allowance
iGN eV LIl
(C) Travelling Allowance

LI eooTL g

Auxiliaries to trade is also called as

96y el (Hpe| Frsmsetlen

Section 80CC
gL 9fey 80CC

Section 80P
gL 19fley 80P

B)

jE( Wholesaler

Quwrgg eSwirum

(D) Producer
2_pHugdlumer

(B) House Rent Allowance

&S () eumLensLilg

M Gratuity

uentl&L s menL

wrumysdnE gienent fleug eramug Geieumm iepssiuBhidng?

(A) Trade
eSQlwrumyd
(C) Warehousing

LIGRTL_ &ML

19

(B) Advertisement
edlerb Ly

M Aids to trade

&L_(HLomend
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In which form the owner, establisher and manager is only one?
% iemwl9e o Menwwmer, imeuert whmitb Guoemert erarueur ¢mHeuGr?

74.
(A) Joint enterprise
gal_(h Hipiod
(C) Co-operative society
.l (hme| FmsLD
75. A partnership is registered with
R dal_Lmerenoen LSley Gaieug)?
(A) Registrar of Companies
) Hlimiods ugeumer
| Registrar of Firms
gl Lmerrentd Lleumar
76. Registration of Partnership is
gl Lmemenloan Ligley Gelieug)?
(A) Compulsory
SL_L_TWILD
(C) Not necessary
Sjeudlwb @eeney
77.  All cooperatives are established with
gal_(hme| FhismaeT LSle| Clelielg)?
(A)  Philanthropic motive
Qgrenr(h Crrésnd
(C)  Profit motive
@oru Crrésid
045/DD/22

(B)

(B)

(D)

Government company
278 Hmioid

Sole Proprietor
geflwmeT euenflaLd

Registrar of Co-operatives
gal_(hme] LiFeumer

District Collector

reul L <yl Hluim

[B’)/ Optional

D)

D)

ellpLILLD
Statuary
UL LI TeULDTEg)

Service motive
Caanou Crr&sid

Reform motive
Erdl s Crrésd



78.

9.

80.

81.

can be given as a collateral security for getting financial assistance form

bank.
aiduie Adused Qup LngsTUL @aeanliLng auphisliLBh&ng?
(A) Dock warrant (B) Warehouse receipt
SIDDPEE FTEGHIDTGHEHT LT ssTane @) 7&s)
(C)  Dock receipt Warehouse warrant
glaonps Qs LIGRTL_& &TGHTD &0 6uoT

Business units can reduce expenditure by out sourcing front office work like
apGauny sigeuas Larflew LpgluaL L Geleuger apobd abhs egwrar Ceweasmar

GDDES (PlgLLd?

(A) Paper work (8( File work
&rélg Lenfl Camiiy e

(C) Billing (D) Manufacturing
Qrésl 2 HUSH

The main benefit of out sourcing is
4 UL UL QFuieus e (p&sdl Beranin?

(A) Productivity jB‘)/ Cost reduction
2 HusHHmerr Qeaey GenmLIL
(C) Skill (D) Units
Hmer <D GH&ET

Assuming Social Responsibility of business helps the enterprise in
Qsmfleder seps Qurmliy ereucumm Hneuarsamns 2 se dmg)?

(A) Increase profit (B) Decrease profit
Qarugms i sfléEs Qeorusams Ganss
27 Sustainability (D) Equilibrium
BlenaudgemnenLn FLoblena
21 045/DD/22
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82.

83.

84.

85.

Which one of the following helps in maximizing sale of goods to society?
Gemreumid 618 sepsEHDE P& FrdHEGH®en lHs gemen Qe Dg?

(A) Business success (B) Law and Regulations
cuenflag S e Gleunml NS GET LOHMID G(LHMHIE P DEET
ny Ethics (D) Professional Management
RPESHPEOD Qgmfleapenn Cueanearenlo
Equity shareholders are the ———— of a company.
Gritento LkIE@GSTITSET (5 Hlmieangsl e DLGUTITHET?
(A) Creditors M Owners
sLaBCHmT pgereflger
(C)  Debtors (D) Employees
sL_amefl&er uesflwmeriaer

It may be wise to finance fixed assets through

Blenawé QFTHeH&EHMET QUTHIS o LwatL(hsgieug fmbg Careuns @) meEEn?
(A) Creditors 9{ Long term debts

sLahCam BeRTL_ ST &HL_6tseT
(C) Bank over draft (D) Bills discounting

curaidl GodveuanyliLipm) o GTlq UIED SET(EHLIIG-

Which one of the following is called as one side contract?
1 etreu(mLD 6T @(HLIGS RULIBSLD erarm DiempssLiLBdmg:?

(A) Executory contract (B) Express contract
BlanpCeudlw @UiLBSD QeuefliuenL_wimer gLLbSLD

gef Unilateral contract (D) Bilateral contract
POHHOD GUUDHSLD Bos@o @UUBSLD

045/DD/22 22



86. A contract with or by a minor is a

@ emeu(mLen GlgFuwiub @UUbSD?

(A) Valid contract
Cadas65 @LILHSLD

jﬁ( Void contract
QFerans @UILIHSLD

(C) Voidable contract
5N T&h&HEgIq 11 LUILIHSLD

(D) Voidable of the option of either party
wnGmrm sriderfler efl@mliugder Guifla

87. The compensation given for breach of contract is
euUBs Bnaissnar Qar®sstul L Gl eremig)?

Damage (B) Remuneration
Gasmyd QeugLd

(C) Money (D) Cheque
LI GTLD FsTGFTemeL

88.  Direct tax to be levied in the Banking Cash Transaction Tax
Coirg eufl a9 eumidl Qrrés ufleusgemen eufl alildlés LB eug?

(A) Rs. 40,000 and above @ Rs. 50,000 and above
¢5.40,000 (1) S15H @ G e5.50,000 () 25H @ Ced

(C) Rs. 1,00,000 and above (D) Rs. 2,00,000 and above
¢5.1,00,000 () 2i5m@E Goed e5.2,00,000 () 25mH@E Ced

89.  Which of the rate of tax levied on long term capital gain?
Getreumid erhg auflaigid e asmre el (B Garusder 5g elfssl LG Hng?
(A) 5% (B) 10%
@ 20% D) 30%

23 045/DD/22
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94.

95.

97.

98.

96.

The cost per unit of output 1s denoted by —————— cost.

R G 2 DLSHEsTen QFae] eTamLig, QFaeuréELd
Average (B) Marginal
gl @mdé& swblae

(C) Variable (D) Total
LOTMILD QorEs

CPM is a technique it is used in (CRITICAL PATH METHOD)
CPM Qgmfleomuibd uweruGssiubeg

Q{ Control (B) Directing system
s_Quum@® @QWEEGHD DML
(C) Committee system (D) Communication
G (P el &&6U6 GgmL_iLy

The excess of assets over liabilities is
Qummiiysemer smigaid WEGHwns o _drer Qersgisaer

(A) Loss (B) Cash
BLL_LD Qrr&sid

(Zr Capital (D) Profit
(PSD @evmuiid

The primary factors of production are
2 HUGHESETET (PSETENLD &I 6w &ETTEu 6 ?

(A) Labour and organization (B) Land and Capital

2 anipliL] whHmib @gmdled Hlald HmIDd (PGS
(C) Labour and Capital JZ{ Land and Labour

2 enpLIL| DHMILD (PFed e Hmib 2 ULy

Warehouses remove the hindrance of
St erglenihs @Lium el B&EHng.
(A) Person M Time

<2},6IT STeLD
(C) Risk (D) Knowledge
2USE) <ifley
25 045/DD/22
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90. Which one of the following is an indirect tax?
19 6treu(mLd 678 Wanm(ps eulfl?

(A) Income tax JB( GST
au(mLomen euffl #&@E wHmb Caaneu el
(C) Wealth tax (D) Perquisites tax
Qersg) eur Ligsar Bgrer aufl

91. Total revenue is equal to total output sold multiplied by

Qurés eummand erenug eflpueman GabwLULL QurmLsaflen aseLen QUMmES

HevL_LiLg?

S)({ Price (B) Total cost
eflanev Qs Ceaey

(C) Marginal revenue (D) Marginal cost
Qmid& gdlene uBLOTETLD @ndssohlame Ceway

92.  The relationship between the price of a commodity and the supply of commodity is

Qumeflan eflanad@id SieflIGHED 2-eer Qgmmy?

(A) Negative ,VB( Positive
T e Crirenm

(C) Zero (D) Increase
LgRedluiLD ARG

93. Choose the Long-term planning
Ser_sra L BOHL uanflau GCap0sHhEs e-gejeug

(A) Purchase of Raw material
epelIQuTHL&ET GaTETEpSe
(B) Preparation of Budget
auray - Qe HLb guMiFse
M Changing the Techniques of production
o pugHéarar QeThe HiLks®ar WrHmHIeIS
(D) Arranging the Employees for training
serflwiiisaer LUAHEES arpUTH Qewige

045/DD/22 24



99. Profit is the reward for

@amud L) WTHESTE Qau@wd

(A) Land ‘D‘J/ Organization
@L b ey

©) Capital D) Labour
(PSS o empUL

100. A cooperative gociety shall be declared fund not exceeding to _ tocommoOn

good fund from the net profit.
(Hoey FHIGD NS LD @eurrug@eb 56 Hemos QUISDD HH&S

RO Tl
@eomu G fedlene C@{@aﬁl&asmmb.
(A), 2% (B) 3%
10% (D) 14%
el
26
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